# Fruitvale STAAR End-of-Course Parent Meeting

#### SENATE BILL 1031

- Requires end-of-course (EOC) assessment instruments in Algebra I, Algebra II, Geometry, Biology, Chemistry, Physics, English I, English II, English III, World Geography, World History and United States History.
- The purpose of the EOC exams is to measure students' academic performance in core high school courses.
- The EOC exams are also part of graduation requirements beginning with the freshman class of 2011–2012.

### SOCIAL STUDIES STAAR EOC ASSESSMENTS

- <u>Level I Minimum Score -</u> (students must meet or exceed the Level I score to count toward the cumulative score)
  - World Geography 3383
  - World History 3326
  - US History 3372
- <u>Level II Satisfactory Performance</u>
  - 3500
- <u>Level III Advanced Academic Performance</u>
  - World Geography 4404
  - World History 4634
  - US History 4440
- Cumulative score requirement 10500 (3500 x 3 = 10500)

#### SCIENCE STAAR EOC ASSESSMENTS

- <u>Level I Minimum Score -</u> (students must meet or exceed the Level I score to count toward the cumulative score)
  - Biology 3367
  - Chemistry 3348
  - Physics 3346
- <u>Level II Satisfactory Performance</u>
  - 3500
- <u>Level III Advanced Academic Performance</u>
  - Biology 4576
  - Chemistry 4607
  - Physics 4499
- Cumulative score requirement 10500 (3500 x 3 = 10500)

## MATHEMATICS STAAR EOC ASSESSMENTS

- <u>Level I Minimum Score -</u> (students must meet or exceed the Level I score to count toward the cumulative score)
  - O Algebra I − 3371
  - Geometry 3362
  - Algebra II 3350
- <u>Level II Satisfactory Performance</u>
  - 3500
- Level III Advanced Academic Performance
  - O Algebra I − 4333
  - Geometry 4397
  - Algebra II 4080
- Cumulative score requirement 10500 (3500 x 3 = 10500)

#### READING STAAR EOC ASSESSMENTS

- <u>Level I Minimum Score -</u> (students must meet or exceed the Level I score to count toward the cumulative score)
  - ENG I Reading 1813
  - ENG II Reading 1806
  - ENG III Reading 1808
- <u>Level II Satisfactory Performance</u>
  - 1875
- <u>Level III Advanced Academic Performance</u>
  - ENG I Reading 2304
  - ENG II Reading 2328
  - ENG III Reading 2135
- Cumulative score requirement5625 (1875 x 3 = 5625)

### WRITING STAAR EOC ASSESSMENTS

- <u>Level I Minimum Score -</u> (students must meet or exceed the Level I score to count toward the cumulative score)
  - ENG I Writing 1798
  - ENG II Writing 1807
  - ENG III Writing 1808
- <u>Level II Satisfactory Performance</u>
  - 1875
- <u>Level III Advanced Academic Performance</u>
  - ENG I Writing 2476
  - ENG II Writing 2408
  - ENG III Writing 2155
- Cumulative score requirement5625 (1875 x 3 = 5625)

## GRADUATION PLANS STAAR EOC ASSESSMENTS

#### **Graduation Plan Requirments-**

- MHSP
  - 3500 x (number of assessments) Math, Science, Social Studies
  - 1875 x 6 = ELA Reading and Writing
- RHSP -
  - 11250 cumulative score in English (Reading and Writing)
  - 10500 cumulative score in Math, Science, and Social Studies
  - Algebra II must achieve a scale score of 3500 or higher
  - English III Reading and English III Writing must achieve a scale score of 1875 or higher
- O DAP -
  - 11250 cumulative score in English (Reading and Writing)
  - 10500 cumulative score in Math, Science, and Social Studies
  - Algebra II must achieve a scale score of 4080 or higher
  - English III Reading and English III Writing must achieve a scale score of 2155 or higher

Table 2: Assessment-Related Graduation Requirements for Students Who Begin Testing in 2011–2012 or 2012–2013

Program	Level II Cut Score	Cumulative Score Requirement	Additional Requirements
MHSP	<ul> <li>1875 for English</li> <li>3500 for mathematics, science, and social studies</li> </ul>	<ul> <li>11250* for English</li> <li>(# of assessments) × 3500 for mathematics, science, and social studies</li> </ul>	Student must meet or exceed the phase-in 1 minimum score for each EOC assessment for the score to count toward the cumulative score.
RHSP	<ul> <li>1875 for English</li> <li>3500 for mathematics, science, and social studies</li> </ul>	11250* for English     10500** for mathematics, science, and social studies	<ul> <li>Student must meet or exceed the phase-in 1 minimum score for each EOC assessment for the score to count toward the cumulative score.</li> <li>Student must achieve a scale score of at least 1875 on English III reading and English III writing.</li> <li>Student must achieve a scale score of at least 3500 on Algebra II.</li> </ul>
DAP	<ul> <li>1875 for English</li> <li>3500 for mathematics, science, and social studies</li> </ul>	<ul> <li>11250* for English</li> <li>10500** for mathematics, science, and social studies</li> </ul>	<ul> <li>Student must meet or exceed the phase-in 1 minimum score for each EOC assessment for the score to count toward the cumulative score.</li> <li>Student must achieve a scale score of at least 2135 on English III reading.</li> <li>Student must achieve a scale score of at least 2155 on English III writing.</li> <li>Student must achieve a scale score of at least 4080 on Algebra II.</li> </ul>

<sup>\*</sup> This cumulative score requirement is based on  $6 \times 1875 = 11250$  for the English (reading and writing) content area.

<sup>\*\*</sup> This cumulative score requirement is based on 3 × 3500 = 10500 for the mathematics, science, and social studies content areas